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Question Number : 1 Question Id : 27028215876 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No
Correct Marks : 2 Wrong Marks : 0

Prior to teaching the teacher does
T S0t SIPTRIENE TR

Options :

Identification of objectives
OO godto

Preparation of teaching lesson plan
FES P8 (BerfSDH Sard FDSDHEo
E

Know the mterests of the students

DTHO BIHOD BennSiSgo
3. % & =

All of the above
2IY
4.

Question Number : 2 Question Id : 27028215877 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Which of the following factors least contribute to effectiveness of teaching?
800 A6* B (Hepsodore sodmds Frse oz oFw) FTrE oT0?

Options :

1.



Teacher's knowledge of the subject.
y BTN HRAD SO

Communication skills of the teacher.

5 % SIPETRIENY PIRIRE JHeTjen

Teacher's personal contacts with students.

- amgdga}éa &PEamd8 o 818 Somogren

Teacher's competence in managing the classroom transactions
e, =
. SIS0 VG’ SFPrdind ﬁﬂa"m%w

Question Number : 3 Question Id : 27028215878 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No
Correct Marks : 2 Wrong Marks : 0

Which of the following factors least affect teaching?
Bod IS TS efeorr HFEdso TR B850 HB?

Options :

Teacher's attitude towards teaching.

- PPEIDY eFFRID I

Teacher's biographical data.
SIREREND EDE SOBH Soxohods Jarmrso
2.V

Teacher's self efficacy.

5 & GFTLENR oo Brdted



Teacher's skill in managing and monitoring.
i T I
4w QTP 0D HEBERS® eareoind Pdese

Question Number : 4 Question Id : 27028215879 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

The best way for providing value education to students 1s through
S?Jmng:’ga}.tf.: DL DD ©OSEOOS ©B08 HOAN ATPRO

Options:
Arranging lectures on values

DI STy QOP)ED TADEO

o

Discussions on spiritual texts with the students

S8 (oo R dupies® Sg)osto

Organising Seminars on values related topics
DensesH H00080dH vomed® 5rRAD HTSo QEraroito

Mentoring the students on values development
DenRe H=erRS SJ:F;:‘%E}E‘.} QBoBEs SrgigNo Jahso

Question Number : 5 Question Id : 27028215880 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No



Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

The main purpose of formative evaluation 1s to
ErHm Sroosio @wE) mﬁ;@—ﬁgo

Options :

Grade students' learning outcomes.
DILR0 OIS HOTeOD [8of Tahso

1. %

Accelerate students' learning performance.

S v Do o Qap)s5c JriSodo Bawiso

Check students' performance graph.
e V) By DiEeR) B08ouo

Provide feedback to teacher effectiveness.
. =Evnest ) %ﬂ&’:}ﬂ;;&} B3 DRV o

Sub-Section Number : 2
Sub-Section Id : 2702821165
Question Shuffling Allowed : Yes

Is Section Default?: null

Question Number : 6 Question Id : 27028215881 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0
The conclusions/findings of which type of research cannot be generalized to other

situations? )
D 85N HOFEISD PO 388 $0REODH FEEB5005T08 devseth



Options :

Casual Comparative Research

RS HoTed)s HOTELD

1. %

Historical Research

- TOEE)E BOTGS

Descriptive Research
, SETEES 308%5S

Experimental Research
. SBrrrE)S HOIEER

Question Number : 7 Question Id : 27028215882 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Which of the following statements is not true in the context of participatory research?
Bod (H8EPSSE® grridryy HB8%S (Participatory) 8 Hoglobod HBE@NG S
Options:

It recognizes knowledge as power.
20 PP &8 I8 o HLoDHR

It emphasises on people as experts.
20 (©BaD IPHD T8) TYpD



It 1s a collective process of enquiry.
20 058 $PAS ET (BBab

Its sole purpose 1s production of knowledge.

, o OR S0P @rerd g 688 Tabo

Question Number : 8 Question Id : 27028215883 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

The head teacher of a school conducts an interview session of teachers and students with a view to
explore the possibility of their enhanced participation in school discipline enhancement
programmes. This endeavour may be related to which type of research?

a8 @Wﬁﬁﬁmédﬂnd) e B85 SRGoito, snbdin O s EEreiD 2osrofod IR
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Options:

Evaluation Research
|« SPOOSS BOIEI

Fundamental Research
|DBE DO

Action Research

- oS HOIPGES

Applied Research
©0R0E H0°ED



Question Number : 9 Question Id : 27028215884 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No
Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No
Correct Marks : 2 Wrong Marks : 0

A detailed description of methodology of research 1s not required in

FoFow BOTES 358 Bod w8 ©SILI0TD

Options:

Doctoral level Thesis
mﬁﬁf—*ﬁéﬂ ﬁ;o&; D05 REpodS ((fogo

Master level thesis
5796 836 58S Repods ((fogo

Post-graduate level dissertation
8. 2. Jpow oSG &TAS

Conference Paper

K&iﬂ%’nﬁgf& Somobodd Hesisar HlEo

Question Number : 10 Question Id : 27028215885 Question Type : MCQ Option Shuffling : No
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Correct Marks : 2 Wrong Marks : 0



From the following list of statements 1dentify the set, which DOES NOT have negative implications
for 'research ethics "

BosRSAS (H8FEses” D6 $68SE VKLY’ HBTEHHO w=H

Options :

A researcher critically looks at the findings of another research.
2.8 B0SEDH ass B0PG HOTD) DdbGrd)Sorr HEbdoHto

Related studies are cited without proper references.
[0 aa;‘:aﬁrjw DHowme 5005 ofidbarod Jrdodto

2. %
Conduct of practitioner 1s screened in terms of reported research evidences.
3« D0TEH IBeddh B0 JTQS mwwrde wgrdore
Both policy making and policy implementing processes are regulated m terms of
prelimiary studies.
Fodod Sdird Tabdo, e Idhto ©F BB 208D Swoth BN
. ordhrren Ad@odto e
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Read the passage and answers the questions from 11 to 15:

We have achieved freedom. A country and a people that by every test are a unity have been
arbitrarily divided. And the wound will take long to heal; for, as Mr. Nehru has sadly remarked,
“division has taken place in the hearts of the people of India.” But it 15 idle to brood over what
has happened and foolish to get angry and cast about for scapegoats. Many think that there 13
bound to be a reumion when there has been time enough for people to reflect coolly on the
disastrous consequences of this unnatural partition. The responsible leaders have shown a
praiseworthy desire to conciliate the minorities and to reassure them. But so long as Lahore,
Calcutta, and other big cities remam m the grip of madmen drunk with blood and the civil power
stands helpless in the face of organised murder and loot, 1t 15 idle to expect the nunority
communities to be satisfied with verbal assurances however ample. From today the
responsibility for ending this disgraceful state of affairs 1s solely ours. Neither the Government
of India nor that of Pakistan must overlook the fact that our new-won freedom 1s itself gravely

menaced by this chronic lawlessness.

We have won freedom. And the first thing our people must leam 1s that it 15 no picmic. They
will have to gird their loins and work as they have never worked before. Any number of paper
plans will not usher m the millennium if we go on interminably arguing their relative merits.
The consensus of mstructed opinion i the country 15 that our urgent need 15 to increase
production. Dr. John Matthai argued that like all national movements for freedom ours too, has
had to lean heavily on vested imnterests and the latter have taken the fullest advantage of thus;
and that a determined effort should now be made to shake off this strangle-hold and this could
be done, and the energy released by the achievement of freedom could be best utilized by
casting vested interests for the role of enemy as we cast British Impenialism for that role till the
other day. Those who led the fight for freedom yesterday may themselves come to be regarded
as vested mterests by their self-stvled successors of to-day who claim to lead the struggle for

economuc equality.



Question No: 11 & 15
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Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
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Correct Marks : 2 Wrong Marks : 0
How was the country’s freedom threatened?
D30 AB0EY W) DT §3e5eS BB HBOOP

Options :

War
N0

Partition

5 % BATATATS

Discrimination of human beings

» NN T RAINEY

Lack of independence

05 B0B,0 BEIFI%0

Question Number : 12 Question Id : 27028215888 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

Which one of the following is correct?

&3 800 ¢3S HDIE DE?
Options :

1. %



Dr. John Matthai critically said that all national movements for freedom depended on
beneficial things.

T 20 B8 Treby Sorr 59 0 PR @) Zeoh e sren
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Dr. John Matthai pointed out that all national movements for freedom depended on
public revolt.

oo B%50 2BA ©R)) a8 aliiren (Her S%Ibertn w. &0 H18 weed o
4O rdowed.
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Dr. John Matthai mentioned that most of the national movements are started to receive
independence but they became political movements.

. 2l $HB SPphdr e adah algiror Jxgoldo oo 8o
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Dr. John Matthai uttered clearly that no national movement 1s successful unless it has
politics in it.

Tr3805re) BHIO) 9 20D Gi500 D20DSH0S0 S IO 50
T TS DR

Question Number : 13 Question Id : 27028215889 Question Type : MCQ Option Shuffling : No
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Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

What 1s the main 1dea that expressed by Dr. John Matthai in the above paragraph?

VTS TE0 R T TR 0D ST ees?



Options :

It 1s about colonialism

RN D P PR A IS T LA IO ATO LA TN A

It is about partition

28 DTS Jo00H0AKG.

It 1s about human values

- 2O AP0 AN By OO0 DE

It 1s about imperialism

L A0 Deghrony, aeeds QOVOHODIED

Question Number : 14 Question Id : 27028215890 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
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Correct Marks : 2 Wrong Marks : 0
According to the writer. India and Pakistan partition 1s
Brhomed (D50, 2rORH0 OGN FETQ BB 9T
Options :
Natural
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Compulsory

BDDOBOD
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Odd
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Inevitable
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Question Number : 15 Question Id : 27028215891 Question Type : MCQ Option Shuffling : No
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Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
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Correct Marks : 2 Wrong Marks : 0
“The wound will take long to heal.” The word “wound’ represents

TPODN DOD0 TH@EDE TTET e0N0 CNEN0E)." B8 ma\*%oéﬁ FeRo e}
9T D0 HORD DN ;
Options :

Deaths occur in World War IT

| % OO0 D00t ANPOS D HBeTexo

Partition

DLBHE
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Nehr’s sign on papers of India and Pakistan division

23850040 SHBAM TEETS DEIBD DIPOP DR OB

Eeunion of the two countries

otk D7 §HDBe0005H0
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Sub-Section Number : 4
Sub-Section Id : 2702821167
Question Shuffling Allowed : Yes
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Question Number : 16 Question Id : 27028215892 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
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Correct Marks : 2 Wrong Marks : 0

One of the following should be avoided for effective communication. Find it out?

80O S’ 2,563 AP0 H02FAEIR ArBorT Gowd. )
S0 G?

Options :

Intercultural awareness

DO BIO 50, NP

Ambiguity
QOO Ed



Appearance of speaker
5 ang) Brdo

Physical disabilities
4 x FOCE J8ergen

Question Number : 17 Question Id : 27028215893 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On

Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :
No

Correct Marks : 2 Wrong Marks : 0

Which of the following are the characteristic features of an effective classroom?

Eﬁ‘uﬁ)gaf)oé@_ofﬁ BOHBE wotHodD B offPIa08 7

1. Learning 1s student centered.
ogHdEn D50 Sodg B ©oknos)

2. Only teachers must be engaged.

Gl T SOV SIP|€55) BedBad

3. Instruction 1s varied.

P50 JDQOJT G0EN0A.

4. Learning 1s related to life.
RN )FI0 ©9TE 2T HODOQODIE
That which has a feedback.
HD8 @PIpa00 B0

6. Students are engaged.
DT ;0N SEHE0

Select the correct answer from the codes given below:
808 250G HoBBO OB AT NIFTI0 JOTDE0H:

Options:
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Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :
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Correct Marks : 2 Wrong Marks : 0

Which of the following is not true?

HE3S” A D20 5°Cw?

Options :

We can learn to become better communicators through enhancing self-awareness and self-
knowledge

RLOD-OSTETS HOO VLON-VTFTR) DOFOAODE0 TFIT° S0
GBa NATIS (DPOE0N e )T E0

2

LiBe

The forms of non-verbal communication include facial expressions. eye contact. and
personal appearance.

T8 P Sr8)G  BE  draren S0 998w, od
H08moen O I355ed (rara)) SO &odab



Non-verbal cues are not different from culture to culture.

FE AP0 28 0L DO 5088 D08 D0 T TBEIKEO
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Active listening skills can be used fo develop awareness and monitor the non-verbal cues
of others.

HBBS (#es Jeargen edmrrd DoEPoBSEAS Kb adthe OFYse SoBeei)
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Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :
No

Correct Marks : 2 Wrong Marks : 0
Feedback is always appreciated. It motivates people to improve. The characteristics
of effective feedback
@farabo dgEr (Hdonodathiod. ab FHeodh HHrHHsSES
EPe)Sri0b. S58508H efarabo @nE) oEmo

Options:

It should be regular
1% 26 ([Bshorr sosed

It should be non-reciprocal

A DBAIB0 AAK o)

It should include recommendations for improvement

- 28 DD §B50 R D D8 Gomd



It should be based on information which 1s objective by first hand observation
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Question Number : 20 Question Id : 27028215896 Question Type : MCQ Option Shuffling : No
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Correct Marks : 2 Wrong Marks : 0

Media 1s important because it 1s a

AT SNWEIE DOCHE0T) AT 9T
Options :

Communicative source
QTS (0O estrdad

Money earning machine
821) QOTE0D DT AHO|HO

Benchmark to follow
2.8 ﬁgw&l ©@SBoSe0

Medium for politicizing

el dired Eﬁjﬂtﬁgeﬁm

4, %

Sub-Section Number : 5
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Question Number : 21 Question Id : 27028215897 Question Type : MCQ Option Shuffling : No
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Correct Marks : 2 Wrong Marks : 0

A tram crosses two persons who are cycling in the same direction m 12 and 18 seconds
respectively. If the speeds of the two persons cycles are 9 and 18 kmph respectively. then
the length of the tram s (in meters)

£ Bew, oF 65 286 D I¢hed) adD S50 SHOT 12 HB0H 18 DD
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Options :

1. % 18

N
#
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Correct Marks : 2 Wrong Marks : 0



Two taps A and B can fill an empty tank mdependently in 2 and 3 hours respectively, If

both the taps are opened simultaneously, then in how many minutes can they fill the tank?
14 oo W, ' 6 W, W,
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Options :
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Question Number : 23 Question Id : 27028215899 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
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Correct Marks : 2 Wrong Marks : 0

A person wants to buy 6 kg of tomatoes and 7 kg of potatoes. which together would cost
Rs. 190. In the market as tomatoes were very good. then he decides to buy 2 kg more
tomatoes and 6 kg less potatoes and spent only Rs. 170. Then the price of 1 kg of tomatoes
15

28 58 6 850 aFrero Hook 7 5o a0merdode, 3ok D 190
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Options :



2.% 15

3 ¢ 20

Question Number : 24 Question Id : 27028215900 Question Type : MCQ Option Shuffling : No
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Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :
No

Correct Marks : 2 Wrong Marks : 0

A company gives a discount of 15% on the marked price and makes a profit of 19%. What
percentage. did the product mark over the original price ?

it W, o] 2 o (" . W . R . O
2.8 00 180 AOS 15% G080 A A0S HBAN 19% erer) SPotded0d.
&é5 189 @0 &8 1 D0 TEVE D5 100 &8 &0d?

Options :

15
1. %

5 % 19

4.v 40
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Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
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In a certain language, if the word ‘BASKET" is coded as ‘UFLTBC", then the word
‘SIMPLE" 1s coded as

2% 03 7S, ‘BASKET &% 90 &6 UFLTBC' eoond, &3¢k & a7 'SIMPLE

@ G056
Options :

1 % FMOQNIG
>« MFNQTJ

3 v FMQNIT

, » FMQGNI
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Missing group of letters in the following is
o, -] o] o o gl w,
805 8005 S0 @5 TP D0

AZBY : CXDW : : EVFU:
Options :

.« TGSH

, % GSTH

5 » GHTS

GTHS
4.
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Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
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Correct Marks : 2 Wrong Marks : 0
The missing number in the sequence: 7.20.47.94, 167.__ is

29006 SDoDS Dowms: 7. 20, 47, 94. 167.

Options :

| % 216

]
-1
-2

5 % 226



4 % 199

Question Number : 28 Question Id : 27028215904 Question Type : MCQ Option Shuffling : No
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The odd one among the following letters is
808 TS ), 28 DOTFOD i T en

ool -

Options :

| » DU

) % AZ

CX

4 % BY
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In a class of 280 students. 210 students passed m Chenustry and 220 students failed in
Mathematics. 40 students failed m both the subjects. Then how many students in the class
failed only in chemistry?

2X BB D&) 280 08 dzded 210 206 Srohd TS &80
OO, B0 220 0B Areden Ke3ST|N0S DNO0ErS. 40 008 Darzden
306035 ADODOIRD. ©HPd SSISS DN ITdOS SRrchT RS
SPSR DNORD T D02

Options :

1. = 40
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How 1s A’s mothers fathers son related to A’s father.
A tﬁaoﬁ@_ SOHE So(& Gwg) B, A (fmﬁé So|&8 AT ==,
Options:
Brother &F&&co

1. %

. Uncle &S7ev



3 Brother in law 2755 / 275008

Father

0|6
4, % -
Sub-Section Number : 7
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Is Section Default? : null

Question Id : 27028215907 Question Type : COMPREHENSION Sub Question Shuffling Allowed
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None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed
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to replay(In Seconds) : 0 Allow Volume Control : No

Question Numbers : (31 to 35)

Question Label : Comprehension



Note: The questions Q. 31 to Q. 35 are based on the following mnformation.
Beod: (43en Q. 31 Hod Q. 35 S8%, 80d Jdrado egrdom G o,
In India.the total number of color televisions sold by different companies in the
year 2015 and 2016 were 45 and 55 lakhs respectively. The percentage of
different COIllp'llliEs sold 1s presented m the table.
2 OSTH0ET 2015 B0 2016 H05SITE DDA Hoen SQHT 45, 55 Ofe
dofhe) BODEIN F00TN. VG open DEon0dS T
:-.JLQ\':A(?_-' c.&.‘lwc’,_/%’-‘

Company of Color Television 2015 2016
S0 BODERONE) DoPen (in percentages | (1n percentages
roINOS) | Téinod)
Videocon DAGrsS 21 22
Samsung F00R 18 20
LG 262 14 15
Onida 2.d@ 13 10
Phillips a®%5 11 7
BPL Ja& 10 8
Awa 23 6 6
Other companies Desda0e0 7 12

Sub questions
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Correct Marks : 2 Wrong Marks : 0

Which company has maximum increase in the number of units sold mn 2016 when
cmnpmed with 2015?
20158 FOR), 2016659 “lgcmomﬂf &) 0R Gng), CArAL) N0 e dSorr DOA0E?

Options :

| % vedeocon DGEBITS



3 ¢ Samsung 30000

4 % Others 935000

Question Number : 32 Question Id : 27028215909 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
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Correct Marks : 2 Wrong Marks : 0

The percentage of units sold by Videocon. out of sold units in the two years together is

W T b o 3 T, s L 6 & 2 &y oL ™ "
B0 N0NSITOE DFN0DND TS0 AFAROS | IATFS S AE0N0DNEA 0
ERCTONO W ALANE

Options:

1 % 21.00

Question Number : 33 Question Id : 27028215910 Question Type : MCQ Option Shuffling : No
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Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
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Correct Marks : 2 Wrong Marks : 0
The number of units sold (in lakhs) by others 1s increased m 2016 compared with 2015 is
20158 FOR 2016, ad&HOT EWOIT DORS AFIE Howe. (LS

Options :
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Correct Marks : 2 Wrong Marks : 0
The number of units of Phillips sold in 2016 compared with 2015. the number of units
sold decreased 1s ,
20158 O, DO AZoN0DS AP D03 201665, NECHSNES’ S AP
R0W? (@ f“fnf )

Options:
0.1

1. %

, % 035



1.0

4w 11
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The percentage of units sold by Onida. in the two years together is
; . T o L. T o W
B0 N0 TS EDD DETIFED FONO0DDS IS0 ODTFAIL) F°¢5O

Options :

| % 0.35

, » 1135

Sub-Section Number : 8
Sub-Section Id : 2702821171
Question Shuffling Allowed : Yes

Is Section Default? : null
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DOS stands for
DOS e0&

Options :

Disk Operating System

- &%y s50800 ?\3:;\35}

Disk operating session
&%) w50A0oh RS
2. %

Digital Operating System
8266 =50B0h DY

Digital Open system
&266 2 bR
4, % »
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The term used to describe all physical components of a computer is:
Boaye5abE°) P88 grrred DBBoSENS o6 Hiso.

Options :



Software

|« 536
Shareware

5 % 2556
Hardware

3 5’3511_355
Firmware
1=}

4 % Sieialel
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In Internet terminology. what does the acronym WYSIWYG stand for?
20663¢) JrosBESS® oY Do WYSIWYG G dordidnod

Options :

1 % Why You Saw Is What You Got

5 What You See Is What You Get

3 % Where You See Is Where You Got



4 % What You See Is What You Got
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The program used to prevent unauthorized user on internet from reading files ina LAN 1s
@58 B ris¥orr) mobb 3 oo LANE® 6) S8 w688 b

Options :

Firewall
| v DTS

Brickwall
B

Telewall
3 & BOard

Cold wall
gErgE ]

Question Number : 40 Question Id : 27028215917 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No



Correct Marks : 2 Wrong Marks : 0

The expansion of abbreviation MOOC 1s
MOOC e08

Options :

1.« Massive Open Online Course

> % Massive online open College

3 % Management open online course

4 % Management online open college

Sub-Section Number :
Sub-Section Id :
Question Shuffling Allowed :

Is Section Default? :

9
2702821172
Yes

null
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How much total solar energy that is reaching earth 1s used in the evaporation of water on

earth to join 1n hydrological cycle?

D8 Sgos PEIOS, Gridd 30 o8 SrvgEd et s VAN 6O o 887

Options :

1.+ 1i4



4 % 1/8
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In which country. the Sihwa Lake Tidal Power station is present ?
o BIost T DBy BES 58 %3’3,5 Berth?

Options:

China

o
a_

Canada
Bae

South America
tﬁéaa eonbse

South Korea
&8ee B5°BAP
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Correct Marks : 2 Wrong Marks : 0
The main cells that get effected by HIV are
HIV g (@Hgeso 308 Sogy Seseen
Options :

WBC
d%ﬁjﬁa

RBC
5652

Hepatocytes
seBohEeen

Neurons
& Zezren

Question Number : 44 Question Id : 27028215921 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No
Correct Marks : 2 Wrong Marks : 0

Lignite is a variety of
OMES a8 BEDS

Options :

Renewable reource
VBTN D50

1. #



Crude o1l
> % S0d S50t

Brown coal

. Aigsh &%)

Combustible gaseous nuxture

. snoth Degrasn e ardin db|dsnan
4, i
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Ozone trends panel was set up by

LS (B ngdea?ﬂcﬁna JoPInd D PDOTLD.
1. NASA

WMD

SHAR

UNEP

=

Options:



4% 1,2,3
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UGC has allowed students to do Diploma or Certificate Courses side by side with

degrees to
Dorsten BE%ren B B $09845 8o Tahe8 UGC eiiidoded8 sbeo.

Options :

Increase income of Universities and colleges
D Qrrgedire HBdn Egrron ewrdird) Rosto

Provide sufficient workload to the teaching staff

5 S Deohs SASoE HAEDoSEo

Utilise human and non-human resources maximum

5 x PSS HBatn ErBES S5SH0H Frf Fond® HAGrARoEO

To empower students to take up work after their degree courses
4 v Blb TBIRS Sod Dregthen HATcHHOR SrsozgR) DoSEo
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Which of the following organizations deal with "capacity building programe" on

Educational Planning?
DegerdEE S008I “%ﬂé}ﬁ;ﬂv@ QoY S8y EsreR” &&S&moﬂ 503;; 6?

Options :

NCERT
1 % 905008

UGC
 O50.2.2

NAAC
a5

NUEPA
:fﬁnsﬂn
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The purpose of value education is best served by focusing on
Bob ol So|@¥boBto Toe Dende Dy 6RO P FrHosED



Options :

Cultural practices prevailing in the society.

- D¥reod® &) #Dé@@é esTIPTPeD

Norms of conduct laid down by a social group.
2.8 PErRs $Yo PB0NS (BT (Hreren

Concern for human values.

SPRE e 56 (3
3. ¢

Religious and moral practices and instructions.
SSHB8S Hoan I8E sarore FES
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A Central University is setup by an act of
Solbadh DEDogecho Bod SGo woe FdoSadod

Options :

The Parliament

artanoes
v T

The Legislative Assembly
o % BDOY



The UGC
cin. 2.5,

The MHRD Department

4% aeX. -6 &. &ﬁvgﬁméﬁ (538 Sthe sho@dkey Degrrizn)
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Correct Marks : 2 Wrong Marks : 0

Which of the following 1s the most important 1in higher education?
638 D5S® wodiod HErdst Bob 06" 26?

Options :

Teaching what is being tested
$68098 eomodm &Holto

Testing what is being taught
90D womed HbFosto

2 %
Promoting students achievement in academics
- FogoTed DIt PEID NoT0BOSES

Encouraging learning to learn

eogf 0w oD egkRhoboth @rE)irosio
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Question Number : 51 Question Id : 27028215928 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

The social environment of the job affects people and 1s also affected by them and
not by management alone. 1s the main proposition of:

Options :

. Contingency theory of organisation

System theory of organisation

Classical theory of organisation

Neo-classical theory of organisation
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Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
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Correct Marks : 2 Wrong Marks : 0

The theorist that advocated standard methodology for doing a task and suggested that
workers were motivated by pay according to output (piece woik) is:

Options :

1 % Elton Mayo



5 % Max Weber

3 @ Frederick Taylor

4 % Henry Fayol
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Correct Marks : 2 Wrong Marks : 0

is an approach to managing an organisation that supports the
concept of confinuous improvement: a long-term approach to work that
systematically seeks to achieve small. incremental changes in processes in order to
improve efficiency and quality.

Options :

TQM

1. %

BPR

3 % Kaizen

4. Lean ma Nnagement

Question Number : 54 Question Id : 27028215931 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
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No
Correct Marks : 2 Wrong Marks : 0

In which organisational form. are there dual or multiple lines of authority?
Options :

1« Matrix

5, % Modular

3 % Multidivisional

. Decentralized
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Correct Marks : 2 Wrong Marks : 0

What 1s expansion in Demand Curve?
Options :

_— Rise of Demand due to rise of the supply

5 Rise of Demand due to the Decreasing of the Price

3 % Deduction in Price. Lowering Demand



4 % Rise in Demand and Rise in Price

Question Number : 56 Question Id : 27028215933 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :
No
Correct Marks : 2 Wrong Marks : 0

When the monopolist equates MC to MR. then the firm would be:

Options :

1 % Maximising sales

) Maximising profit

3 % Maximising economies of scale

4 % Maximising output

Question Number : 57 Question Id : 27028215934 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
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Correct Marks : 2 Wrong Marks : 0



Match the following:
List—1 List—1II

L. Monopoly I Two firms

II.  Oligopoly 2, Price takers

III. Monopolistic competition 3. A Few firms

IV. Perfect competition 4. Weak barriers

3. One firm and one product

Options :
| x 5 IO-1 M2 IV-3
5 % -2 II-5 1III-3 IV-4
3 ¢ -5 1II-3 1III-4 IV-2
4 % -4 II-3 1III-5 IV-1

Question Number : 58 Question Id : 27028215935 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
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Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :
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Correct Marks : 2 Wrong Marks : 0

The purchasing power of money varies

Options :

1% Directly with the volume of employment

5 Inversely with the price level



3 % Directly with the interest rate

4w Directly with the price level

Question Number : 59 Question Id : 27028215936 Question Type : MCQ Option Shuffling : No
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Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
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Correct Marks : 2 Wrong Marks : 0
Which of the following 1s true for Disposable Income?

Options :

Disposable Income i1s the difference between Private Income and
1 % Indirect Taxes

Disposable Income 1s the difference between Personal Income and

5 % Indirect Taxes

Disposable Income is the difference between Private Income and
 Direct Taxes

Disposable Income is the difference between Personal Income and
Direct Taxes

Question Number : 60 Question Id : 27028215937 Question Type : MCQ Option Shuffling : No
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Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
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Correct Marks : 2 Wrong Marks : 0

Match the following:

List—1 List—1I
|} Whistle Blowing 1.  Using words in a certain manipulative way
II.  Euphemism 2. Publicity of vital information through an
unknown source
III.  Ambiguity 3. Less offensive expression of thoughts
IV. Leaking 4. A person came public with some material
information about abuse or negligence
Options :
s o, 9 I-
1 % I-4 T1I-2 TIII-3 IV-1

2 o -4 II-3 -1 IV-2

I-3 1I-2 IlI-1 IV-4

I-2 1I-3 1III-4 IV-1
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The underlying principles of the combined code of conduct of corporate governance
and conduct are:

(a)  Acceptability

(b)  Openness

(¢) Integnty

(d)  Accountability and Responsibility

Choose the correct answers from the options given below:
Options :

| % (a) only

(a) and (c) only

3 @ (b) and (d) only

4% (d) only
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Organizational behaviour focuses at 3 Levels-

Options:

| % Individuals. Organisation, Society

5 % Society. Organisation. Nation



3 % Employee. Employer. Management

Individual. Groups. Organisation
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Which of the following represents the correct sequencing of historical
developments of Organisational Behaviour?

Options :

Industrial revolution—>Scientific management—>Human relations movement—=
OB

Industrial revolution—>=Human relations movement—>Scientific management —
> % > OB

Scientific management—=>Human relations movement — Industrial revolution —
= 0B

Scientific management—>Industrial revolution —Human relations movement —
=B
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Which of the following frameworks is based on the expectancy. demand and
incentive concepts?

Options :

- The behaviouristic framework

» The cognitive framework

The social leaming framework

. The supportive framework
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Which of the following explains how and why people react when they feel
unfairly treated?

Options:

1 % Expectancy theory

5 Equity Theory



3 % Goal attain theory

Goal setting Theory
4, %
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The phenomenon whereby an individual in a group will tend to end up agreeing
with a strong majority opinion in spite of their own judgement is known as:

Options :

Normative influence

Informative influence

Critical mass influence

Buying influence
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The tendency whereby a group reaches a decision by trying to minimise conflict.
neglecting to critically test and evaluate 1deas. is termed as:

Options :

1% Group comprise

5 % Group consensus

3 v Groupthink

4 » Group cohesion
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Which of the following statements 1s /are true:

(A)  Stress management is learning about mind and body

(B)  Stress management helps us control our health in a positive sense
(C)  Stress management teaches us to avoid all kinds of stress

Options:

A 1s true
’|_ 4

B is true
2. 4



B and C are true

A and B are true
4, &
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The strategic training and development process begins with:

Options:

Choosing tramning and development initiatives

Identifying the business strategy

Developing websites for knowledge sharing

Identifying measures or metrics

Question Number : 70 Question Id : 27028215947 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On

Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :



No
Correct Marks : 2 Wrong Marks : 0

The compensation paid during the time of lay-off is called:
Options:

Dearness Allowance

Overtime Allowance

. Cash Allowance

Retaining Allowance
4. &
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Balanced Scorecard aligns performance with:
Options :

~ Finance
1. %

Customer satisfaction
2.

Learning and Development
3. %



Vision
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Which 1s the Last stage in Career planning?

Options :

Resignation

Resume building

Withdrawal

Negotiation
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When an employee is appraised by all the members in the organization like
superiors. subordinates. peers. customers etc.. 1s called as:

Options :

Employee Selt-Assessment
1. %

" The 360-Degree Appraisal

3 % Ranking Appraisal

Performance Appraisal
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When an emplovee is trained for a key position in the organization is called:

Options :

Talent management

Replacement planning
2. %

3 % Leadership development



Succession Planning
4. :
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Behavioural outcomes of stress of an organisation includes:
Options:

Poor me mory
1. %

Absenteeism
w

2.9
3 % Bumout
. Depression
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Which organisation 1s focussed on workers’ education and established an Institute
of Indian Labour in Calcutta?



Options :

| % International Labour Organisation

5 % Indian Labour Congress

3 ¢ National Front of Indian Trade Unions

4 % World Trade Organisation
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The technique that has been generally adopted by trade unions and management to
reconcile their conflicting interests. is called:

Options :

Arbitration

Collective bargaining

Adjudication

Conciliation
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Which of the followmng accounting standards is recommendatory. not mandatory?
Options :

AS-1: Disclosure of Accounting Policies

AS-2: (Revised) Valuation of Inventories

AS-3: Cash Flow Statement

AS-4: Contingencies and Events occurring after the Balance Sheet Date
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The four principal qualitative characteristics of useful financial statements are:
Options:

1@ Understandability. relevance. reliability. comparability



Timeliness. relevance. reliability, comparability

Understandability, relevance, accuracy. comparability
3. %

Understandability. relevance. reliability. simplicity
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Assertion (A): The angle of incidence is formed at the ntersection of total cost
line and sales revenue line and 1t indicates the profit earning
capacity of a firm after it crosses the break-even point.

Reason (R): The degree of angle of incidence indicates the rate at which the
company earns profit after it crosses its break-even level of operations.

Options :

Both (A) and (R) are correct

5 (A) 1s correct but (R) 1s wrong

- Both (A) and (R) are wrong

A) 1s wrong but ) 15 correct
. £ )
4. %
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When deciding to accept a special order at below the normal selling price. a firm
would consider which cost?

Options :

| % Absorption cost

Marginal cost

Full cost
A

4 % Overhead cost
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The overall capitalization rate and the cost of debt remain constant for all degrees
of financial leverage 1s advocated by:

Options :

P Miller-Modigliani Approach



Net Income Approach

. Net Operating Income Approach
3 #

Traditional Approach

Question Number : 83 Question Id : 27028215960 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :
No
Correct Marks : 2 Wrong Marks : 0

An EBIT-EPS indifference analysis chart is used for:
Options :
Evaluating the effects of business risk on EPS

Examining EPS results for alternative financing plans at varying

5> @ EBIT levels

3 % Determining the impact of a change in sales on EBIT

4% Showing the changes in EPS quality over time
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The degree of financial leverage reflects the sensitivity of:
Options :

| % Operating income to the changes in total revenues

Net income to the changes in total revenues

Earnings per share to the changes in total revenues

4 Earnings per share to the changes in EBIT
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Standard Costing System relates fo:
1. Predetermined or estimated cost
i1.  Cost Control
i1.  Budgetary
iv.  Marginal Costing
Options :

1.



o 1 and 111

11 and 111
4

3 ¢ 1and 11

11 and 1v
4
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The mtrinsic value of a share will be lesser than its market value. when:

Options :

the market 1s undervaluing the share

the market is overvaluing the share

the share has a low level of risk

the share offers a high dividend payout ratio
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The market value of equity shares 1s multiplied by the price-earnings
ratio.

Options:

Face value per share

5 % Book value per share

3 ¥ Earnings per share

Dividend per share
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Arrange the following steps involved in capital budgeting in order of their
ocCurTence:

(1)  Project Selection
(1) Project Appraisal
(11) Project Generation
(1v) Project Monitoring
(v)  Project Execution



Options :

_— (111). (11). (1). (v) and (1v)

2. % (1), (ii1), (1), (v) and (iv)

(1). (111). (11). (1v) and (v)
3. ®

4% (1). (11). (111). (v) and (1v)
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In pricing, the firm bases its price largely on competitors prices.

Options :

-~ Value

5 % Target-return

Going-rate

Perceived value
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If a chipmaker gives personal computer makers a 2.5 percent discount
for paying for their orders within seven days instead of the standard 30
Days, the chipmaker 1s providing them with a

Options:

Functional discount

Quantity discount

2. %

. Promotional price
Cash discount

4. &
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Bread 1s an example of what class of consumer goods:

Options :



Shopping goods

Specialty goods

. Convenience goods

.. Unsought goods
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LIC policy 1s an example of:

Options :

_— Shopping goods

Speciality goods
2. % B 55

; « Convenience goods

Unsought goods
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When there is single period capital rationing. the most sensible way of making
vestment decisions 1s:

Options :
Choose all projects with a positive NPV

1. %

Group projects together to allocate the funds available and select the
5, @ group of projects with the highest NPV

Choose the project with the highest NPPV

Calculate IRR and select the projects with the highest IRRs
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A company has calculated the following NPV and costs for a selection of projects.
Projects-1 and 2 are mutually exclusive, the projects are not divisible and the
company has Rs.5.00.000 available for investment.

Project— 1 : NPV Rs.1.00.000 costs Rs.2.00.000
Project — 2 : NPV Rs.80.000 costs Rs.1.50.000
Project— 3 : NPV Rs.2.00.000 costs Rs.3.50.000
Project—4 : NPV Rs.50.000 costs Rs.3.00.000

The company should invest in:
Options:

Projects — 1 and 2

Projects — 1 and 4

Projects — 2 and 3
3.¢

Projects — 2 and 4

Question Number : 95 Question Id : 27028215972 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No
Correct Marks : 2 Wrong Marks : 0

Find the cost of equity. if: the current market price per share is Rs.25: the dividend
declared for current year is Rs.2 per share: and the expected growth rate in dividend
payments is 5 per cent.

Options :

1 % 12.8 per cent



> 13 per cent

14.2 per cent
3. %

15.6 per cent
4, %
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Dividend capitalisation model was developed by:
Options :

Ezra Solomon

Myron J. Gordon
2. ¥

James E. Walter

4 % Merton H. Miller and Franco Modigliani
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Which of the following airlines will be merged with the Tata-owned Air India by
March. 2024?

Options :

Go First

5 % Indigo

3 @ Vistara

Spice Jet
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The following reasons are good motives for horizontal mergers except:

I. Diversification
II. Economies of scale
III. Complementary resources
IV. Elmination of inefficiencies

Options :

1.



» lonly

, % only

3 % III only

II. IIT and I'V only
4, %
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Firm-A has a value of Rs.200 mullion. and Firm-B has a value of Rs.120 nullion.
Merging the two would allow a cost savings with a present value of Rs.30 mullion.
Firm-A purchases Firm-B for Rs.130 mullion. How much do Firm-A’s shareholders
gain from this merger?

Options:

Rs.10 nullion

~ Rs.15 nullion
2. %

3 ¢ Rs.20 nmullion

Rs.30 nullion
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In regression of capital asset pricing model (CAPM). an mtercept of excess
returns is classified as:

Options :

Sharpe’s reward to variability ratio

Treynor’s reward to volatility ratio

5 o Jensen’s alpha

4 % Treynor’s variance to volatility ratio
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An individual stock required return is equal to risk-free rate plus bearing risk

premium is an explanation of:

Options :

| @ Security market line



Capital market line

3 % Beta market line

Aggregate market line
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An efficient set of portfolios represented through a graph is classified as an:
Options :

Attained frontier

Eftficient frontier

Inefficient frontier

Unattained frontier
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A line which shows the relationship between expected return and risk on an
efficient portfolio is considered as:

Options :

1 w Efficient market line

Attributable market line

2. #

3 % Security market line
Capital market line

4, %
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For contingency exposure of foreign exchange. the best derivative that can be used
to hedge 1s:

Options :
1 ¢ Options
Forwards

2. #



3 % Fufures

4 % Swaps
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A forward contract to delrver British pounds for US dollars could be described
either as or

Options:

., Buying dollars forward: buying pounds forward

Selling pounds forward: selling dollars forward

Selling pounds forward: buying dollars forward
3. ¢

Selling dollars forward: buving pounds forward
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In deciding the appropriate level of current assets for the firm. management 1s
confronted with-

Options :

1 « Trade-off between profitability and risk.

Trade-off between liquidity and marketability.
2. %

Trade-off between equity and debt.

Trade-off between short-term versus long-term borrowing.
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ADL matrix has been propounded by:
Options:

Arthur D. Lowey

> Arthur D. Little

 Arthur D. Levin
3_ W



Arthur D. Louise
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Arrange the Strategic Analysis Process in proper sequence:
I. Formulate plans.
II. Recommend and implement the most viable strategy.
III. Determine the effectiveness of existing strategies.
I'V. Perform an environmental analysis of current strategies.
Select the correct answer from the options given below.

Options :

IV, 1L I

5 IV HL TN

ILLE IV

4 % IV.LILI
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‘Build.” “Hold.” “‘Harvest.” and ‘Divest’ are the strategies pursued in:
Options :

| @ Boston Consulting Group Growth Share Matrix

. Value chain Analysis

3 % Managerial Grid Matrix

4 % Ansoft’s Product Matrix Growth Matrix
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An organization that has a low relative market share position and competes
in a slow growth industry is referred to as a:

Options :

1 ¢ Dog

_ Question Mark



Star

Cash Cows
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In the PESTLE framework for environmental analysis what does the letter S stand

for?

Options :

_— Superior

Surroundings

Society

Socio-cultural
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Asserfion (A): SWOT analysis 1s not used for ranking of organizations.
Reason (R): SWOT analysis 1s a tool for organizational and environmental
Appraisal necessary for formulating effective strategies.

Select the correct answer from options given below,
Options:

A 1s true but R 1s false

A is false but R is true

Both A and R 1s true

Both A and R 1s false
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“Competitor’s Differentiation’. ‘Customer Value’ and ‘Application of
Competitiveness” are the three important areas of:

Options :

Value Chain Analysis

. Business Process Re-engineering



Competitor Analysis

Core Competence Concept
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Which promotion mix ingredient costs considerably more than advertising to
reach one person but can provide more immediate feedback?

Options :

Publicity

Sales promotion

Personal selling
3. % =

Public relations
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Which of the following defines the total number of product lines offered by a
company’

Options :

1 & Product width

5 % Product length

3 % Product depth

4 % Product height
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Disneyland has been positioned as the largest theme park 1n the world. It has been
positioned on which of the following?

Options :

Application positioning

Attribute positioning
2. %

Benefit positioning



User positioning
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The structure of brands within an organizational entity is known as:
Options:

| % Brand recognition

Brand equity

Brand architecture
3.

Brand monitoring
4, #
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Vaseline- petroleum jelly sold as lip balm and moisturizer, 1s an example of:
Options :

Benefit related positioning

5 % Positioning by usage occasion and time of use

3 @ Category related positioning

4 % Price Quality positioning
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The difference between what a brand promuses to deliver i its communications
and what it actually does. 1s known as:

Options :

_— Brand differentiation

Brand gap
2.9

Brand communication



Brand discrinunation
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Content Marketing consists of:
Options:

slogans

jingles

blogging

logos
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The term supply chain management was first coined by:

Options :



Frankel & Paulraj

Peter Drucker

3 @ Keith Oliver

Philip Koftler
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In Supply Chain Management. ATP stands for:

Options :

Acquure, Track & Perform

1. %
5 Available To Promise
_ Active Transport Protocol

Access To Point
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Services are characterised by all of the following characteristics except for:

Options :

1 % Intangibility

mseparability

Perishability

Homogeneity

Question Number : 124 Question Id : 27028216001 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No
Correct Marks : 2 Wrong Marks : 0
Which of the following 1s correct for customer value?

Options :

Customer Value = Customer Benetfits + Customer Costs

Customer Value = Customer Benefits - Customer Costs



Customer Value = Customer Benefits / Customer Costs

Customer Value = Customer Benefits + Customer Costs — Overheads
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The products which enjoy popularity and generate lot of sales m a short span of
time and later go out of fashion are termed as:

Options :

1. fad

variety
2. % i

category killers
3. %

assortment
4. =
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The mean of a distribution 15 23. the median 1s 24. and the mode 1s 25.5. It 1s most
likely that this distribution is:

Options:

1 % Positively Skewed

5 % Symmetrical
Asymptotic
4 Negatively Skewed
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The mean of a distribution 1s 14 and the standard deviation 1s 5. What 1s the value
of the coefficient of variation?

Options:

_— 60.4 per cent

, 48.3 per cent



3 @ 35.7 per cent

27.8 per cent
4. %
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The percent of total variation of the dependent variable Y explained by the set of
independent variables X is measured by:

Options :

1 % Coetlicient of Skewness

5 % Coetficient of Correlation

3 @ Coefficient of Determination

Multicollinearity
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What test statistic is used for a global test of significance?
Options:

1 % Ztest

4% C hi-square test
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Assertion (A): Sampling error 1s a statistical error that occurs when an analyst
does not select a sample that represents the entire population
of data.
Reason (R): Sampling error can be reduced to ‘zero’ by randomizing sample
selection and/or increasing the number of observations.

Options :

1 » Both(A)and (R) are correct

Both (A) and (R) are wrong



" (A) 1s correct but (R) 1s wrong

(A) 1s wrong but (R) 1s correct

4, #
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Match List-I with the List-II by choosing appropriate formula:

List-I List-IT
(a) Probable error (1) .
(b)Standard error  (ii) 1
(¢) Correlation (111) 2
Options :

o @) O  ©-6)
e @0 O (@)
@) O-G)  (©-6)

4w @) (0)-0)  (e)-(m)
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Statement — 1: In statistical hypothesis testing, a Type I error 1s the failure to
accept a true null hypothesis. also known as a "false positive"
finding or conclusion.

Statement — 2: In statistical hypothesis testing. Type II error is the failure to
reject a false null hypothesis. also known as a "false negative"
finding or conclusion.

Options:

- (1) is correct but (2) is wrong

Both (1) and (2) are wrong

3 % (1) 1s wrong but (1) 1s correct

17 3 - oy v
4V Both (1) and (2) are correct

Question Number : 133 Question Id : 27028216010 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :
No

Correct Marks : 2 Wrong Marks : 0

One way to facilitate production scheduling and production in firms making a
large number of different final products s to use:



Options :

1 % Planning bills

Modular bills

Phantom bills

Overdue bills
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“Exploding” the bill of materials means:

Options :

Converting the bill of materials into components and raw
material requirements

Identifying the lead time of all the components

Determuning the various components’ quantities that are
3 % already on hand

Determining the net requirements for all the components
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The Six Sigma model that we use for the improvement of the existing

product/process 1s referred to as:

Options:

DMAAX

1. #

5 % DMADWV

DMAAD

DMAIC
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Which of these ISO 14000 series standards consist of the gumidelines of the
Environmental Performance Evaluation?

Options :



ISO 14004

ISO 14001

3 @ ISO 14031

ISO 14010
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The optimal assignment requires that the maximum number of lines which can be

drawn through squares with zero opportumty cost should be equal to the number
of:

Options :

Rows or columns
1. %

Rows and columns

Rows + colummns- 1

4 % Rows-columns
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In Program Evaluation and Review Technique. each activity time assume a beta
distribution because:

Options:

it 1s a umimodal distribution that provides information regarding the
uncertainty of time estimates of activities

it has got finite non-negative error

it need not be symmetrical about model value

the project 1s progressing well
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The mathematical technique used to solve the problem of allocating limited
resources among the competing activities s called:

Options :



Assignment Problem

Linear Programming Problem

Replacement Problem

Non linear Programmung Problem
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When someone programs a robot by moving it physically through the trajectory
that they want it to follow is known as:

Options:

| % robot vision control

contact sensing control

continuous-path control

pick-and-place control
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The techmque of computer vision that relies on the image templates 1s known as:
Options :

Model-based vision

Binocular vision
2. =

Robot vision

Edge detection
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Match List-I with the List-IT choosing appropriate theories:

List—1 List—1II
I.  Adam Smith (a) The theory of Wages
II. David Recardo (b) The theory of Relative Factor Endowments
I1I. F.W. Taussig (c) The theory of Absolute Cost Advantage

IV. Ohlin and Heckscher  (d) The theory of Comparative Cost Advantage
Options :

I<(d) II-(c) II-(b) IV-(a)

I-(c) II-(a) II~(d) IV-(b)

3 I-(c) II-(d) III-(a) IV-(b)

I-(b) II-(d) II-(a) IV(c)
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Which entrepreneurs can be included in classification based on socio-cultural
backgrounds from the following?

I.  Portfolio Entrepreneurs

II.  Fust-Generation Entrepreneurs
III. Women Entrepreneurs

IV. Experienced Entrepreneurs

Options:



I and IT only

IT and III only
v 3

III and IV only

IT and IV only
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The entrepreneurs, whose parents or fanuly had not been into business. and were
into salaried service. are known as:

Options:

| % Early Starters

Experienced Entrepreneurs
2. %

v First-Generation Entrepreneurs
3. .

Portfolio Entrepreneurs
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An entrepreneur who starts and runs a number of businesses simultaneously is
known as:

Options :

Serial Entrepreneur

Maturity Entrepreneur

Experienced Entrepreneur

Portfolio Entrepreneur
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Which of these theories involve taking a moderate amount of risk as a function of
skill and not chance?

Options :

Need for achievement



Need for affiliation

Need for authority

Need for independence
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interval to replay(In Seconds) : 0 Allow Volume Control :

Unicorn 1s an unlisted start-up valued at:

Options :

US 10 mullion

US $100 million

US $1000 millions
3 ¢

US $ 10000 nmullions
4, %
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Which of the following 1s alternatively called corporate venturing?
Options :

Entrepreneurship

Intrapreneurship
2.9

Act of starting a new venture

Offering new products by an existing company
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A micro enterprise is an enferprise where mvestment in plant and machinery does
not exceed

Options :

Rs. 25 Lakh



5 % Rs. 50 Lakh

3 ¢ Es. 1 Crore

Es. 5 Crore
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What does ZED stand for in the context of MSMEs and certification in
manufacturing?

Options :

Zero Defect Zero Effect

Zero Effect Zero Defect

Zero Delays Zero Effect

Zero Effectiveness Zero Defectiveness



